Student Handout 3: Population Growth Rate of the Invasive Lespedeza cuneata
Your name:____________________________________________

A: Fill in the bar graph below based on the results you calculated from R using a pen. Fill in the bar you make. Remember: a population growth rate (λ) below 1 is declining and above 1 is increasing.
B: Provide brief answers to the following questions or follow directions if indicated.

1.) Recall, which stage (or size of plants) was the only stage that was found to be significantly affected by the herbivory treatments?

2.) What was the direction of this effect? Explain. 

3.) Given the population growth rate you found for the control treatment, the answers to questions 1 and 2, and your expectations of biocontrol, what do you predict will happen to the population growth rate (λ) if you replace the transitions of small to medium plants in the matrix that were found for each treatment?  Explain.
4.) Illustrate in pen your answer to question 2 on the graph above. Do not fill in the bars.
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